Intersection: Los Altos Ave at El Camino Real, Palo Alto, California

MapData payload size 873
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gov.usdot.asnl.generated.j2735.dsrc.MessageFrame
value MessageFrame ::= {
messageld 18,
value MapData : {
msgIssueRevision 11,
layerType intersectionData,
intersections {
{
id {
region 0,
id 1017
}r
revision O,
refPoint {
lat 374046329,
long -1221181920,
elevation 190
br
lanewWidth 330,
speedLimits {
{
type vehicleMaxSpeed,

speed 559
}
}I
laneSet {
{
lanelID 1,

ingressApproach 1,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
bo
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed, maneuverRightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
X 961,
y 1792
}
by



delta node-XY4 : {
X 2944,
y 2768
}
b
{
delta node-XY3 : {
x 1157,
y 1060
}
b
{
delta node-XY3 : {
x 1081,
y 739
}
}
b
connectsTo {
{
connectinglLane {
lane 10,
maneuver {maneuverLeftAllowed}
by
signalGroup 4
b
{
connectinglLane {
lane 13,
maneuver {maneuverStraightAllowed}
b
signalGroup 4
b
{
connectinglLane {
lane 20,
maneuver {maneuverRightAllowed}
b
signalGroup 4

laneID 2,
egressApproach 2,
laneAttributes {
directionalUse {egressPath},
sharedwWwith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x 1158,
y 1567
br
attributes {
dwidth 30
}
by
{
delta node-XY4 : {
x 2962,
y 2796



}
}I
{
delta node-XY3 : {
x 1148,
y 1109
}
}I
{
delta node-XY3 : {

x 1013,
y 735

lanelID 3,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedwWwith {},
laneType vehicle : {}
br
maneuvers {maneuverStraightAllowed,
maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1813,
y =247
br
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782

delta node-XY4 : {
X 2549,
y —-2805
}
by
{
delta node-XY4 : {
x 2009,
y —-2149
}
b
{
delta node-XY4 : {
x 2073,
y —2327

}
b
connectsTo {
{
connectinglLane {
lane 2,

maneuverRightAllowed,



maneuver {maneuverRightAllowed}
by
signalGroup 6
}y
{
connectinglLane {
lane 20,
maneuver {maneuverStraightAllowed}

by
signalGroup 6

lanelID 4,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 1506,
y —472
}
by
{
delta node-XY4 : {
x 2574,
y —-2783
}
b
{
delta node-XY4 : {
x 1992,
y —2159
}
by
{
delta node-XY4 : {
x 2118,
y —-2309

}
br
connectsTo {
{
connectingLane {
lane 21,
maneuver {maneuverStraightAllowed}
by
signalGroup 6

}
by
{

lanelID 5,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
}l



maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x 1192,
y —669
}
b
{
delta node-XY4 : {
X 2655,
y —-2881
}
b
{
delta node-XY4 : {
x 1989,
y -2119
}
b
{
delta node-XY3 : {
x 1314,
y —-1450
}
b
{
delta node-XY3 : {
x 810,
y —-818
}
}
b
connectsTo {
{
connectingLane {
lane 22,
maneuver {maneuverStraightAllowed}
b
signalGroup 6
by
{
connectingLane {
lane 6,
maneuver {maneuverStraightAllowed}

lanelID o,
ingressApproach 3,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x 901,
y —847
b
attributes {
dWwidth =30



}
b
{
delta node-XY4 : {
X 2666,
y —-2889
}
b
{
delta node-XY5 : {
X 2852,
y —-3103
}
b
{
delta node-XY2 : {
x 731,
y —-280
}
}
b
connectsTo {
{
connectingLane {
lane 114,
maneuver {maneuverLeftAllowed}
b
signalGroup 1
by
{
connectingLane {
lane 10,
maneuver {maneuverUTurnAllowed}
b
signalGroup 1

laneID 7,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY4 : {
x =718,
y -2186
by
attributes {
dWwidth 30
}
by
{
delta node-XY2 : {
x 932,
y —-290
}
b
{
delta node-XY3 : {
x 1445,



y —-1089

}
b
connectsTo {
{
connectingLane {
lane 8,
maneuver {maneuverStraightAllowed}

}

}
by
{

lanelID 8,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
X =241,
y —-1518
}
by
{
delta node-XY4 : {
x 1900,
y —2047
}
b
{
delta node-XY5 : {

x 3272,
y —-3545

}
bo
connectsTo {
{
connectinglLane {
lane 13,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1018

laneID 9,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverStraightAllowed},
nodelist nodes : {

{



delta node-XY3 : {
x 149,
y —-1365
}
by
{
delta node-XY5 : {
x 2784,
y —-3046
}
b
{
delta node-XY4 : {
x 2180,
y —-2315

}
br
connectsTo {
{
connectinglLane {
lane 114,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region O,
id 1018

laneID 10,
egressApproach 4,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x 426,
y —-1178
}
b
{
delta node-XY4 : {
X 2614,
y —-2851
}
by
{
delta node-XY4 : {
x 2373,
y —2582
}
}
b
connectsTo {
{
connectingLane {
lane 15,
maneuver {maneuverStraightAllowed}

by



remoteIntersection {
region O,
id 1018

laneID 11,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodeList nodes : {
{
delta node-XY4 : {
x -1063,
y —2317
br
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 559

delta node-XY2 : {
X -694,
y =222
}
b
{
delta node-XY3 : {
x —-1333,
y —-1271

}
b
connectsTo {
{
connectinglLane {
lane 7,
maneuver {maneuverRightAllowed}
b
signalGroup 8

}
b
{
lanelID 12,
ingressApproach 5,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed, maneuverLeftAllowed},
nodelList nodes : {



by
{

delta node-XY3 : {
x -1353,
y -1413
by
attributes {
dWidth =30
}
by
{
delta node-XY4 : {
x =-1737,
y —2397
}
b
{
delta node-XY6 : {
x -6076,
y —-8175
}
by
{
delta node-XY6 : {
X -6121,
y —8292
}
b
{
delta node-XY6 : {
x =-7087,
y —9454

}
br
connectsTo {
{
connectinglLane {
lane 2,
maneuver {maneuverStraightAllowed}
b
signalGroup 8
by
{
connectingLane {
lane 11,
maneuver {maneuverStraightAllowed}
}
b
{
connectinglLane {
lane 22,
maneuver {maneuverLeftAllowed}
b
signalGroup 8
}
}

laneID 13,

egressApproach 6,

laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}

}l

maneuvers {maneuverStraightAllowed},



by
{

nodelList nodes : {

s

{
delta node-XY4
x —-2353,
y —-860
b
attributes {
dWwidth 30
}
b
{
delta node-XY2
x =153,
y —-880
}
b
{
delta node-XY3
X —-884,
y —=1790
}
}

connectsTo {

}

{

connectinglLane {

lane 14,

{

{

{

maneuver {maneuverStraightAllowed}

}

laneID 14,
egressApproach 6,
laneAttributes {

s

maneuvers {maneuverStraightAllowed,

directionalUse {egressPath},

sharedWith {},
laneType vehicle

nodelList nodes : {

{
delta node-XY3
x -1617,
y -1185
b
attributes {
dwidth -30
}
b
{
delta node-XY4
x -1773,
y —2345
}
by
{
delta node-XY6
x -6058,
y —-8313
}
b
{
delta node-XY6
X -6101,

{}

{

maneuverRightAllowed},



y —-8262
}
bo
{
delta node-XY6 : {

x -7081,
y —9459
}
}
}
}y
{
laneID 15,

ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
by
maneuvers {maneuverRightAllowed, maneuverRightTurnOnRedAllowed},
nodelList nodes : {
{
delta node-XY4 : {
X =-2334,
y —-489
by
attributes {
data {
speedLimits : {
{
type vehicleMaxSpeed,
speed 782
}
}
by
dWwidth 30
}
by
{
delta node-XY2 : {
x =196,
y 924
}
b
{
delta node-XY4 : {
X -164o0,
y 2251
}
}
by
connectsTo {
{
connectinglLane {
lane 13,
maneuver {maneuverRightAllowed}
b
signalGroup 2
}
}
b
{

lanelID 16,
ingressApproach 7,
laneAttributes {

directionalUse {ingressPath},



sharedwWwith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x -1610,
y —68
}
b
{
delta node-XY4 : {
X -2560,
y 2754
}
by
{
delta node-XY5 : {
x —-4279,
y 4543
}
b
{
delta node-XY4 : {
x -2079,
y 2351
}
by
{
delta node-XY4 : {
x -1843,
y 2150
}
}
b
connectsTo {
{
connectingLane {
lane 8,
maneuver {maneuverStraightAllowed}
b
signalGroup 2
b
{
connectinglLane {
lane 15,
maneuver {maneuverStraightAllowed}

lanelID 17,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
br
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x -1401,
y 215



}
}I
{
delta node-XY5 : {
x -3219,
y 3466
}
}I
{
delta node-XY5 : {
X —-3450,
y 3814
}
}I
{
delta node-XY4 : {
x -2190,
y 2300
}
}I
{
delta node-XY4 : {
x -1862,
y 2197
}
}
}y
connectsTo {
{
connectinglLane {
lane 9,
maneuver {maneuverStraightAllowed}
}I
signalGroup 2

}
by
{

laneID 18,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
X -1163,
y 513
}
by
{
delta node-XY5 : {
x =-3962,
y 4267
}
b
{
delta node-XY4 : {
X -2765,
y 2917



delta node-XY4 : {
X -2139,
y 2392
}
by
{
delta node-XY4 : {
x -1844,
y 2138
}
}
b
connectsTo {
{
connectingLane {
lane 10,
maneuver {maneuverStraightAllowed}
b
signalGroup 2
b
{
connectinglLane {
lane 19,
maneuver {maneuverStraightAllowed}

laneID 19,
ingressApproach 7,
laneAttributes {
directionalUse {ingressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverLeftAllowed, maneuverUTurnAllowed},
nodeList nodes : {
{
delta node-XY3 : {
x -948,
y 780
b
attributes {
dwidth -30
}
b
{
delta node-XY4 : {
X -1658,
y 1798
}
by
{
delta node-XY4 : {
x -1613,
y 1709
}
b
{
delta node-XY3 : {
x =906,
y 493

by



connectsTo {
{
connectingLane {
lane 2,
maneuver {maneuverLeftAllowed}
by
signalGroup 5
b
{
connectinglLane {
lane 22,
maneuver {maneuverUTurnAllowed}
b
signalGroup 5

laneID 20,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =132,
y 1745
b
attributes {
dwidth 30
}
b
{
delta node-XY5 : {
X -4699,
y 5111
}
b
{
delta node-XY4 : {
x -2533,
y 2747
}
b
{
delta node-XY5 : {
x -3151,
y 3631

}
by
connectsTo {
{
connectinglLane {
lane 3,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1016



laneID 21,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
X —-368,
y 1475
}
b
{
delta node-XY5 : {
X —-4644,
y 4972
}
b
{
delta node-XY4 : {
X -2691,
y 2917
}
b
{
delta node-XY5 : {
x -3166,
y 3636
}
}
b
connectsTo {
{
connectingLane {
lane 4,
maneuver {maneuverStraightAllowed}
b
remoteIntersection {
region 0,
id 1016

lanelID 22,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverStraightAllowed},
nodelList nodes : {
{
delta node-XY3 : {
x =597,
y 1225
}
b



delta node-XY5 : {
x —-4587,
y 4960
}
b
{
delta node-XY4 : {
x -2277,
y 2419
}
b
{
delta node-XY5 : {
x =-3700,
y 4184
}
}
b
connectsTo {
{
connectinglLane {
lane 5,
maneuver {maneuverStraightAllowed}
by
remoteIntersection {
region 0,
id 1016
}
b
{
connectingLane {
lane 23,
maneuver {maneuverStraightAllowed}

laneID 23,
egressApproach 8,
laneAttributes {
directionalUse {egressPath},
sharedWith {},
laneType vehicle : {}
b
maneuvers {maneuverUTurnAllowed},
nodelList nodes : {
{
delta node-XY6 : {
x -7461,
y 8604
by
attributes {
dWidth =30
}
by
{
delta node-XY2 : {
X —-699,
y 219
}
b
{
delta node-XY3 : {
x -1034,



delta node-XY4 : {
x —-2000,
y 2313

}
b
connectsTo {
{
connectinglLane {
lane 18,
maneuver {maneuverUTurnAllowed}

}
by
{
laneID 24,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport}
br
nodelList nodes : {
{
delta node-XY4 : {
x 411,
y 2256
}
by
{
delta node-XY3 : {
x 1193,
y -1313

}
b
connectsTo {
{
connectingLane {
lane 25,
maneuver {maneuverRightAllowed}
by
signalGroup 14
b
{
connectinglLane {
lane 27,
maneuver {maneuverLeftAllowed}
b
signalGroup 14

}
by
{

laneID 25,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
}l

nodelList nodes : {



delta node-XY4 : {
x 2069,
y 161
}
b
{
delta node-XY3 : {
x -1540,
y -1021
}
b
{
delta node-XY3 : {
x -1472,
y —-870
}
b
{
delta node-XY2 : {
X 66,
y —888
}
}
b
connectsTo {
{
connectingLane {
lane 24,
maneuver {maneuverLeftAllowed}
b
signalGroup 16
by
{
connectingLane {
lane 26,
maneuver {maneuverRightAllowed}
b
signalGroup 16

laneID 26,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
b
nodelList nodes : {
{
delta node-XY4 : {
x =877,
y —2618
}
by
{
delta node-XY2 : {
X —-66,
y 888
}
b
{
delta node-XY3 : {
X —-865,



delta node-XY2 : {
X —-928,
y -6

}
b
connectsTo {
{
connectinglLane {
lane 25,
maneuver {maneuverLeftAllowed}
b
signalGroup 10
b
{
connectinglLane {
lane 27,
maneuver {maneuverRightAllowed}
b
signalGroup 10

laneID 27,
laneAttributes {
directionalUse {ingressPath, egressPath},
sharedWith {},
laneType crosswalk : {hasPushToWalkButton, audioSupport,
unsignalizedSegmentsPresent}
b
nodelList nodes : {
{
delta node-XY4 : {
x -2736,
y —679
}
b
{
delta node-XY2 : {
x 928,
y 6
}
b
{
delta node-XY3 : {
x 1191,
y 1494
}
b
{
delta node-XY3 : {
x 1028,
y 1435
}
}
b
connectsTo {
{
connectingLane {
lane 24,
maneuver {maneuverRightAllowed}



b
signalGroup 12
bo
{
connectinglLane {
lane 26,
maneuver {maneuverLeftAllowed}
b
signalGroup 12
}



